a—+ b =c ==
B ORI P 17 Emass Z.y=2X,
Frei—ayaass n =m,

COS? — a SEmss arccos a —1.

SIN 7 — ¢ ooe=—— ey ey E s




—1<a<l

O<Larccosasrm

COS(&I‘CCOS CZ) =d

ApPKKOCUHYCOM 4ncna @ (-1<a<1)
Ha3blBaETCA Yron nu3 NpoMexyTka [0;x]

‘ KOCHUHYC KOTOPOIro paBeH 4YnCry a.




—1<a<l

T : T
——Sarcsmagz

csin a

- sin(arcsin a) = a

ApKCUHYCcOM yncna a (—l1<a<l1)

T
Ha3blBaeTCA Yron 13 npomexyTka [——;—}
CMHYC KOTOPOTO paBeH Yucny a.




AY







arccos(- / arccos a

arccos a + arccos(—a) =,

arccos(—a) = r —arccosa.




arcsina + arcsin(—a) =0,

arcsin(—a) = —arcsina,

y =arcsin x

Heuémuas (OYHKYusl.




-arccos

Ecnu —-1<a<l, mo

X =Zxarccosa+2nmn, neZ”.

Ecnu ‘a|>1, mo

peuieHuu  Hem.




cosx=1, x=2nn,ne”.

> cosx=0, x=—+m,ne”.

cosx=—1, x=n+2nnne”.




a EFem —-1<a<l, mo

X, =arcsina+2nn, ne”,

[T-arsin a arcsina y, =y —arcsin a + 27n,

x, =—arcsina+7n(2n+1)

x =(=1) arcsin a + 7k, k € Z.

Ecnu la >1, mo

‘ peuteHul  Hem.




Ay
. . T
sin x =1, x:5+27rn,neZ.

-

o o smx=0, x=nn,ne”.

i
"
e

. T
smx=—-1, x=——+2nnne’.

‘ , 2

AmN
T,
.




acRr

T T
——<arctga < —
2 =

tg(arctga) =2y

ApKTaHreHCOM YUCIla a Ha3blBaAeTCA

T T

VFof U3 NpomMexyTka [_E;Ej

TaHreHC KOTOpOro paBeH 4Yncry a.




®

cctg a aeR

O<arcctg <m

ctg(arcctga)=a

APKKOTAHreHCOM 4Yucria a HasbiBaeTcH
yron n3 npomexyTtka (0; )
KOT@HreHC KOTOPOro paBeH Yucny a.










arcctga + arcctg(—a) =,

‘ arcctg(—a) = m —arcctga.




arctga + arctg(—a) =0,

a arctg(—a) = —arctga,
ardtg a

Yy =arcigx

X  HeuemHas (QyHKYusL.

argtg(- a)




ctg a

tgx=a, ae€R

X =arctga+ mn.




arcctg a

ctgx=a, acR

X =darccgx +mn.










